. | e
& @‘Oﬁéﬂ’l Set ? Sa/ L/LZIIO/\,

Reldem \(a) o} shi?
= m}g\
=
70° 180°
71:.74615”7 S /;w)yg'{f‘{, /5 "é/d‘é
i S (90°+ A@TZ_—_ a-k//?@"-a@)
 [Peldean [(b) s

=% /.9,’
¢ M,m ,
K—K—= ,'I"
w\ P

e Py A
TRe /Déazszﬁqj sj/mny{ij s that
CoS [ 70 "4.@9) = V— cos /?0"_ AQ)

Rollem | (c) let  90°408=8
T Then TP—£8= 180~ (10°108)
< = (60°- B
S/ (‘?0 "f,é 539) = S/n [ 7’0"—119)
6 /S eiU:"Vﬂ,/fv]‘é —Z o
S/in 8= Sin //go"_@)




Problem \(CU, Vame ajumeﬂ( as 1N \(C\.
QGSU\"E 15
cos® = — @5(!800—9)
Beldem lﬁe\
mr‘ﬁ IS & %rfdﬂj/e. w/\/&%’/ ffc/e's

R A, 180°-B, and 160G
and MJ&(/@ an -e,J are.

JEE —-a, /6’0-—5 and 190°— ¢
7@% Friang é Ay zm of Cosines ﬁc

/ﬁh —Ca.S /;-,ffig—\
cos /186G )= s (180" A)ees (166 ) |
ASia //g()_./;)sm/ﬁo g/c‘ox /iﬁf)
’/Z?mé/?/ﬂ /&/) T%J —CoS g

C‘:”Sd ~Cc>s¢4@s?%5znz45zn/?fofé

//IJ’H’,
"____'_-—— -



T ]

?m\olem Z(cg
41° f[°
He Lay o] Gref :

Saj_r'

cosd=cos {10 osd [ +sind195ia 410 cos 1207

—Sl=e= 71 gf’ GOnauém/WzéS
: T

= WZIB sk m/ rz///ff

O-
d= o< (60524f°-1-<5r'a7410 cosS|26° )
= 71.5 °

olden 20)

Sn®  _ SnlZe® o sindlinlts”

2indl® - sin7lee °7 I=3 T 957
?‘EMPL@L‘@ et\? === - ’54& com/ﬂﬂff;
That 15 more nor{z. 71/5?11 &L({ W/‘J
Froblenn 2(¢)




()

C—_%“‘-'” as 1A
ﬁobf—emj ) muS?Z ]45% é G/

( cos 68.6° oS 604%63 égf/,l 50 o5&
—Y .

\\L

= 1LL"
C I Tern Solioo Hhe method J(‘Pmu% 7
agan 1o jﬁ‘t ©

&) o i) Sin68.6° sin8.7°__ 4=°
Sin 1L6°

"H\ﬁ- Cdjculodrarg /o
Hooevef“] arcSIn L\ai JC,I({’,C/ US.

We  wank 180°—44,3%= |3577°

(M v relerse, we need ®7.

(o]
/. -1 sinbo- 6° sin 387
© = sin ‘SIA “ [°

Thi< s how ma rees UJ&S%&—F’VIO«‘%L\ )
Tt :*'S'm the /Od”Pﬂ:LL\ o‘g(év rmmzeas /35775,

= do.s°




e
Frollea t
Yan Brn{gmm(’,lfj’/\ I,_fO(o '&’Z-

T)': 8{‘9
aﬁ c= 100"
A ¢

st e "\-C&J‘ Q, ‘o] ancl -

Te (b of Gsires ]Qf an\;j[@[ 5

cos d =-—C05ACQEB4-SJ'A AS:}\B cos &
Qr) c= cos 50564C°§A£€§ﬁ

SiInA <in B
-\ o5 100° oS é?"coséﬁ__

== < b
Sin 6F° SInB4°
= 98.4°
fo

A' ) _ g‘—] CoS 8‘4b+ coS 6fc.;a_§/wé
i < ,Gf‘a < n 100°
= 87. 4°

/41/'16-‘1] o

=] {55 AR c:asg‘/ocfj‘S/w
A= COSN

Sin 8495 106°

(Cit-ﬁé-/'(-') zm_ /OMCAQS "-'-"'-‘/9/-6#

260°




Frollem S~ \(an /@romr@/ev\ P loé; #4'

E jlcm mc{——ﬂf{aﬂigglm;a;l?ﬁfﬁb

+ ! wken eajU/fG{
Fon ‘Ekﬁar(\@le,sﬁ ( !

cpm S“'ast J(;r
A’n'w!{, nar /%Jﬂuw %O—KM

CFML 9{‘mcr§ ](;
{GCJ-Mg, Near (j/

ﬂo

E‘“ﬁ’j’{i["'”\ we, have bean olcf s ca7/w d/ //¢g,

cxéo;/e/ Aiagram . (e u)m/
-A:.. Enow Zm %c,jm/ﬁ

fBj the_ Lcat«) 0‘( Cine
%im(‘foo—&ﬁl’ NIPN ’ZOGO/_\

Sl 130 A 270

Nlse. | in (90°- Gy =<e5 G - Thorewre
- <in |130° S_/‘\_Zﬁéﬁs /17.9°

C(QIQM—— o / Sin27°
IS Kot Redsodae! —77.99 7 mgomé/@



Brian Hill


'S S gar‘ JCL"S s U\)L\aﬂ[ w€||/630l7:

zt)-c. l’\av{,

ij i@b 107'{70 zr ?00*"%@
wWeoe o oillr\ 20
%mleg_??g@eﬂ:(( & I -

gkﬁ d ¢ e | 10('0,
S 4 ] ,'
Nminerr at/\dﬂf’}n g@g FBI();

Tan %_"(MB\ oS %(a—-é\

C |t 28 _Zs-;(mﬂ 2 -
e =
fin o)) @ZU-B) B a=l01.7°
FanLc | cos (M) f:éfﬁo
AT
O= Ztar ﬁaa%(mg)cos%(a‘wg\# >
e
-zt 2 e g
C To sommarize, @)M::-—[Z.é(’ @{'fﬁi@

C’On/}/i)czjf %eac/z}y E+160° — z;g,{b

o &
QQU/@-: 7.8 /6447

\S



Brian Hill

Brian Hill


s ) 7 #gures of fjmemeﬁ 7?7#116?) same as ().

4r+ {L) o
773.. o0/ = 36.86989765

1 8, Inapecy Maxar Technosoges, USOAFPAC/GED Map du dSiates Terms Privacy Send fesdback 1000
1) Use the ordinary planar Pythagomsan Theorem to get ¢ (in mmj fremaandb. ¢= 135 mm /C.)
(2) Tha scals of this map is 1000 ft = 1 Bmm. Cormen a, b, and ¢ 10 fet: % y

a= 6500 ft b= 4500 ft c=7500ft
) The radius of the Earth is 20,900,000 feet. Convert g and b 1o radians. Keep all digits that your calculator displays. ‘)[ /

2,87 0812397x (0 o 2415311 00 YT X I~ >
or a= 0.01644651/?/‘, e 0.017233¢4(/9 it

7%»1( (d’) Sin b= 4ana 507[74 o = -éa”h, Sink
A= tan! (33332228 8= <5,130/0332 °
Zart (¢)  sing=tctBtanl oc  B= o

S/na

73:: ’éd’l/?'f 007{0{90002f? = ‘géi 86?6?5¢Y e




